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U.G. 6th Semester Examination-2023 

Full Marks : 60 

1. 

a) 

Time : 2 Hours 
The figures in the right-hand margin indicate marks. 

Candidates are required to give their answers in 
their own words as far as practicable. 

b) 

UG/6th Sem/HIST-H-CC-T-13/23 

c) 

Answer any ten questions: 

d) 

HISTORY 
|HONOURS. 

Course Code : HIST-H-CC-T-13 

f) 

2x10=20 

Why did Louis Philippe take the title of "King 
of French" instead of "King of France"? 

R etta "King of France" GtfRrg MA "King of 
French" Goif AGATRCGa (A? 
"The king reigns but does not govern"- Who said 
this? 

"The king reigns but does not govern"- FT 

What does the word'Carbonari' mean? 

e) What is Zemstvo? 

Whose dream was to establish 'Terza Rome'? 

"Terza Rome' efoota A MCA? 

Which sentiment did work behind Bisnarck's 
comment that "Germany is too narrow for 

[Turn her) 



) 

1) 
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k) 

m) 

i) 

g) 

h) 

Austria and Prussia"? 

"Gernany is to0 Darrov for Austrla and Prussia" 

What is the poic of 'Coal md ron) 

What de0 voU MCn by the Wellare State'? 

'Weltare State' 4cil g lt (A|4? 

Who did invent the modern science of 
bacteriology in Lurope in the late ninetcenth 
century'? 

Who was the author of the book "The Subjection 
of Women"? 

"The Subjection of Women" 10g ARs F 

Why does Eric Hobsbawm call the period 1 848 
1875 the "Age of Capital"? 
Eric Hobsbawm Sb8b-st9¢ FA3 |DA "Age of 

Capital" ( oa? 
Following which book the socialist thinkers 
before Marx were called utopian socialists? 

Who was Eduard Bernstain? 



2. 

n) 

o) 

a) 

Answer any four questions: 

b) 

c) 

d) 

Wrile tlhe name of any important socialist 
politician of France of late nincteenth or carly 

Iwenticth century 

666Hist. 

What is the meaning of the term 'Bolshevik? 

54-20 

Do you think that the Revolution of 1848 

marked a distinct advance in the direction of 

liberalism and was more successful than that of 

1830? 

How was Napoleon III (Louis Napoleon) 

elected the Emperor of the French? 

"As a solution of the Eastern Question the Treaty 

of Paris (1856) was a flat failure"- Explain. 

"Eastern Question-4A FAA RaA ÍAAS bÍG 

"Bismarck was reactionary while Cavour was 

liberal"- Do you agree with this view? 

(3) /Tun Over] 



3. 

e) 

) 

b) 

Answer any two questions: 

c) 

Can Alexander the Second of Russia rcally be 
called the 'Czar Liberator? 

d) 

Why is the political theory of Karl Marx called 
'Dialectic Materialism'? 

a) Was there any economic revolution in Germany 
in the period, 1870-1900 AD? 
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(ta? 

10×2=20 

Which were the remarkable social changes in 
industrial Europe of the late nineteenth century? 

Write an essay on the Nihilist and Anarchist 
Movements of Russia. 

To what extent did socialist politics develop in 
France after establishment of the Third 
Republic? 

(4) 
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